
Art.No. 712750 

Spölåda 460 
Rod box 460 

Aluminiumbåtar 



Arkip 530BR – 

Arkip 460 • 

Sportsman 445 Catch – 

Sportsman 445 Max – 

Sportsman 445 Basic – 

Sportsman 400 – 

Sportsman 355 – 

Fishing 440 – 

Fishing 410 – 

Inkas 525 – 

Inkas 495 – 

Inkas 465 – 

Inkas 465L – 

• = passar / fits 
– = passar inte / does not fit 

 

1  x1 211639 

2  x1 211640 

3  x1 211641 

4  x1 211642 

5  x1 211643 

6  x1 211644 

7  x1 211645 

8  x1  

9  x1 211649 

10  x1 211650 

Ø 5mm 
Ø 4,2mm 
Ø 3,5mm 

Du behöver /  You need 

Torx 25 
Torx 20 

Artikelnummer / 
Article number 

I lådan /   
In the box 

11  x1 812376 

12  x2 811302 

13  x1 810360 

14  x1 810361 

15  x14 811101 Skruv LKT M5x16 

16  x16 810005 Skruv LKT M4x10 

17  x8 
810008 Skruv LKTS 
4,2x13 

18  x3 810608 Skruv MFT M4x10 

19  x15 810158 Skruv LKT M5x10 

20  x2 810951 Skruv MRT M4x8 

21  x15 810075 Mutter M4 

22  x22 810332 Mutter M5 

23  x12 211585 Bricka ø15x5,2 

Ø 78mm 8 mm 
7 mm 



2 

1 

810360 

810075 

810608 

x1 

x3 

x3 

211642 

211643 

810005 

810951 

810075 

x1 

x1 

x4 

x2 

x6 

Torx 20 

7 mm 

Torx 20 7 mm 



4 

3 

Ø 3,5mm 

211639 

810008 

Torx 20 

x1 

x6 

 

Ø 3,5mm 

211640 

810008 

Torx 20 

x1 

x2 

810005 

x4 

x4 

810075 

7 mm 



6 

5

Ø 78 mm 



8 

7 



10 

9 

Torx 25 

8 mm 

810158 

810332 

211585 

x5 

x5 

x5 

Torx 25 

Ø 4,2mm 

811101 

Ø
 4

,2
m

m
 x

7 

M
ax

 1
0 

m
m

 

x7 



12 

11 

811101 

811101 

Torx 25 

Torx 20 

7 mm 

810005 

810361 

810075 

x1 

x5 

x2 

x2 

x1 



14 

13 

= = 

Torx 25 

8 mm 

810332 

211585 

x2 

x2 

811101 

x2 



16 

15 

 

 

211649 

x1 

Torx 25 

8 mm 

810158 

x2 

810332 

x2 



18 

17 

 

 
 

 
 



20 

19 

Ø 5mm 



22 

21 

Torx 25 

8 mm 

810158 

x5 

810332 

x5 



24 

23 

Ø
 5m

m
 x3 

Torx 25 

8 mm 

810158 

x5 

810332 

x7 

Ø 5mm 

811101 

x2 

812376 

x1 

211585 

x2 



25 

26 

Torx 20 

Ø 3,5mm 

810005 

x6 

211650 

x1 



2
0

2
4

-0
3

-1
3

 •
 U

tg
åv

a 
1

 

Linder Aluminiumbåtar AB 
Kanotleden 5 • SE-362 32 Tingsryd 

Tel: +46 (0)477-190 00 
info@linder.se • www.linder.se 

M
ad

e 
in

 S
w

ed
en

 27 2. 1. 

4. 3. 

811302 

x2 


